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FA Y3
HE: SBRLTAM (B /BIBSUY)
ool ABEE BAME X3 (Shol: ®2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
207 ARl 200,000 200,000
01 H1ESH] 200,000 200,000
OYASENXE 23HE & 2FUSHE
=8 200,000
SEEM AIRY 29 29,200 0 29,200
201 fer= 3| 29,200 29,200
01 AtR2te|H] 20,200 20,200
OSBRI MRH =Y 20,200
2 S52g4l 9,000 0 9,000
oI AR 2 9,000
=X PE(eY/EZESAL) 7,046,718 8,550,720 A1,504,002
= 263,357
= 5,389,000
== 1,394,361
SEEH oY X 7,046,718 8,550,720 21,504,002
= 263,357
= 5,389,000
= 1,394,361
SHIIHAHME 2L (ST XIR) 14,684 15,640 A956
308 XtXIEMSOIH 14,684 15,640 A956
01 XN BSELES 14,684 16,640 A\956
OAHIUHANME 29 14,684
SABHAH XSHEAY F=&(=1) 526,714 561,272 A\34,558
= 263,357
= 263,357
307 @120l & 526,714 561,272 A\34,558
= 263,357
= 263,357
02 LB HAHEE 526,714 561,272 34,558
OFEAHH XFHEAY =& 526,714
= 263,357
S 263,357
FHAANE SSHEE WA 10,920 10,608 312
308 AHXIEMSOIH 10,920 10,608 312
01 XN BSEES 10,920 10,608 312
OFSHS sEgZE LA 10,920
Z20lE HMelXJA(21) 6,466,800 7,934,400 1,467,600
[ 5,389,000
= 1,077,800
308 XM SOIE 6,466,800 0 6,466,800
[ 5,389,000
= 1,077,800
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FA SR
HE: BR=X| PE(2Y/BABEUY)
ool 2 Y A= (Gt M)
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
01 XN BELES 6,466,800 0 6,466,800
O=d0IE XMelX& 6,466,800
= 5,389,000
< 1,077,800
FHAAS0ISAIE SN 24,000 25,200 1,200
308 AFAIEMSOIE 24,000 25,200 1,200
01 HAHHBSEXS 24,000 25,200 1,200
OHU=IIE SEXNE & Aldid 24,000
2FLA J|gt = 3,600 3,600
202 04| 3,600 3,600
01 =LHO LI 3,600 3,600
OSHEA20F 2= 3,600
BZN=(SF/XA) 300,000 112,000 188,000
= 60,000
= 240,000
2BuWE 2dst & A 300,000 112,000 188,000
= 60,000
= 240,000
SENIAY 170,000 102,000 68,000
307 elztol & 170,000 102,000 68,000
02 LB A HE L 170,000 102,000 68,000
O USAY 2 170,000
A A #gus NH 10,000 10,000
308 AXIMSOIA 10,000 10,000
01 HRHHBAEES 10,000 10,000
OZFd 4y 2Bus A2 10,000
S0t JZ2EZns2 2H(=1) 120,000 0 120,000
= 60,000
= 60,000
307 212+01& 120,000 0 120,000
= 60,000
= 60,000
02 LB HAHE L 120,000 0 120,000
OR0t V=t us2 28N 120,000
= 60,000
== 60,000
ol SE(E2/001) 20,478,674 25,008,633 A4,529,959
= 14,368, 163
[ 1,485,000
= 4,625,511
EHIESAIE 22 20,478,674 25,008,633 A\4,529,959
= 14,368,163
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SN BRI
M o1 2 (EZ/U01)
ol QIS AlZ 2t (CH9: /)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 1,485,000
=S 4,625,511
EEE HHEAIE 22 9,800 9,800 0
201 Ler23| 1,400 1,400
01 At2teltl 1,400 1,400
odH ZAIEH 29 1,400
202 04dl 8,400 8,400
01 2L AL 8,400 8,400
OstZ2AEANEE N=EH 8,400
AEEYIYAA 29 1,850 2,160 A310
201 2= 1,850 2,160 A310
01 At22t2l] 1,850 2,160 A310
o2 EARD 29g 1,850
A2 AEE YRIAIE KR (=212) 706,800 1,793,040 A 1,086,240
= 570,000
== 136,800
403 X HMSAH=0lH 706,800 1,793,040 A 1,086,240
= 570,000
< 136,800
01 MHXIHH A 22X 706,800 1,793,040 1,086,240
OYXIAE EXIXNE S 706,800
= 570,000
= 136,800
IASEI(GP) IEJtA H2EX 22 XA (= 815,000 262,500 552,500
1)
= 815,000
403 AXIEHMSA=201E 815,000 262,500 552,500
= 815,000
01 AXISHHA 22 £ 815,000 262,500 552,500
OJAZEI HIEItA MZEX 22 K& 815,000
= 815,000
FEHQLALAMA =SS (=1) 18,846 18,846 0
= 16,388
= 2,458
403 MR HHMSAH=01H 18,846 18,846 0
= 16,388
= 2,458
01 MHXIHHA 222 18,846 18,846 0
O==ZELITAIMA F=2Z 18,846
= 16,388
= 2,458
CEZBIASR MZAIS(=1) 100,000 560,000 450,000
= 100,000
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2A:
X XH -
o e

=aak

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=0lH 100,000 560,000 450,000
= 100,000
01 XIS A =2 E 100,000 560,000 450,000
OSZTHHIAMHXT M2ZFAH 100,000
= 100,000
ODIAEX HS3® =4 12,000 11,900 100
201 et 3| 3,000 9,500 26,500
01 AtR2tc|HI 3,000 9,500 26,500
OUIMZHAI s 3,000
202 04| 2,400 2,400
01 =LH LI 2,400 2,400
OUIMZX U8 HFFX 2,400
308 AHXIEMSOIH 6,600 6.600
18 SIS0t oA AS A 6,600 6,600
OUIMZHAI S 6,600
S M=A 22 E3ME(20) 95,040 69,120 25,920
= 79,200
= 15,840
403 AXIEHHSAH=201H 95,040 69,120 25,920
= 79,200
= 15,840
01 AR A= 2 £ 95,040 69,120 25,920
OJEE N=A 22 22 95,040
= 79,200
s 15,840
28It HHIEtA H2H(Z2D) 16,524,198 19,893,797 A\3,369,599
= 12,710,925
=S 3,813,273
308 AHAIEMSOIE 16,524,198 19,893,797 A3,369,599
= 12,710,925
= 3,813,273
01 AXEHBSELES 16,524,198 19,893,797 A3,369,599
O:-=ZKRXt ZIIHX K& 13,138,998
= 10,106,925
= 3,032,073
O2™xt M3dH =X 385,125
= 296,250
[ 88,875
OHEIIAH MBd XX 3,000,075
= 2,307,750
= 692,325
UEl0l SEXtE LPGXE & XIJ(=12) 54,600 100,750 N46,150
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2N SR
|

s
Az D12t X (EA/II)

ol QIS AlZ 2t (CH9: /)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 42,000
=S 12,600
308 XtXIEMSO0IE 54,600 100,750 N46,150
= 42,000
== 12,600
01 XN BSELES 54,600 100,750 A\46,150
OO el0l SR LPGRE Mt X3 54,600
= 42,000
& 12,600
BEI12t 2 HENZEX 85 |- 2el(=1) 45,040 17,920 27,120
= 34,650
= 10,390
308 XtXIEMSO0IH 45,040 17,920 27,120
= 34,650
=S 10,390
01 XN B2 LES 45,040 17,920 27,120
2SS12F it A MZBEX =Al2el 45,040
= 34,650
< 10,390
OIMEX SYHE HLZA(21) 1,930,500 2,178,800 A\248,300
[ 1,485,000
= 445,500
308 AtAIEHMSOIE 1,930,500 2,178,800 A\248,300
[ 1,485,000
= 445,500
01 AXEN B2 LS 1,930,500 2,178,800 248,300
ousEHA 24 1,930,500
= 1,485,000
== 445,500
232 OINEX 22| X&(SHAEXE) 50,000 50,000
307 el2to| & 50,000 50,000
02 2B YA HE A 50,000 50,000
o2& UM A2 e X2 50,000
OIAIEHX 22l AlAE -=F 115,000 0 115,000
207 AR 115,000 0 115,000
01 H7ESHI 115,000 0 115,000
OO0IMEX 22l AlHE =8 29 115,000
MEEH O (SZ/HDIZ) 18,412,855 16,729,145 1,683,710
= 6,050,800
Il 4,600,700
== 7,761,355
MEA HIIZ2 SEXC 3,465,255 3,350,645 114,610
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2A:

ey
Mu: MEE M (B/HDIS)
Rl MEA HOIE &EXC (Gt &2l
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 818,800
Jl 696,700
= 1,949,755
Hol=2 et8H Xel 271,398 265,060 6,338
201 et 3| 7,500 7,500 0
02 s3=gHl 7,500 7,500 0
Ost=HDISE3l A3l 7,500
202 04l 6,800 4,760 2,040
01 2LHoIH 6,800 4,760 2,040
Ot =2t &5t RN 6,800
308 AXIHSOIA 257,098 252,800 4,298
01 XN BSE LS 257,098 252,800 4,298
oZ2ITAU 2& 257,098
St & otAMgD] A3HZD) 500,860 500,860 0
= 443,800
= 57,060
308 AFAIEHMSOIH 500,860 500,860 0
= 443,800
= 57,060
01 AXEHN B2 LS 500,860 500,860 0
OdtA o+ HetAre 500,860
= 443,800
== 57,060
Hs2%2J|% =AMl 23 (=HAEXE) 186,236 173,850 A18,614
403 MR EHSAHE01H 185,236 173,850 18,614
02 ST 2SO St =2 A P E A I 155,236 173,850 18,614
Oos%elY, SAF =HAYE 2= 186,236
sZEHHIY =HE43 X (21) 530,200 510,000 20,200
Jl 530,200
308 AXIHSOIA 530,200 510,000 20,200
) 530,200
01 AXN B2 LS 530,200 510,000 20,200
OsZHHIE =4l XI& 530,200
Il 530,200
3sdotE =5 N3 (=) 283,050 382,500 199,450
Jl 166,500
=S 116,550
403 X SHHMSAH=01H 283,050 382,500 299,450
Jl 166,500
== 116,550
01 AXISHHA 22 £ 283,050 382,500 299,450
ossdoty &s Nd 283,050
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2A:

ey
Mu: MEE M (B/HDIS)
Rl MEA HOIE &EXC (Gt &2l
SA - ZE - BR(3) - HRA - B of v e HIDE2
7l 166,500
=S 116,550
Adz=g 243 X2 1,069,011 1,011,875 57,136
201 Ler23 | 6,400 5,400 1,000
01 AtR22telHI 6,400 5,400 1,000
OXtE =2t 243t A& 6,400
308 AtAIEHMSOIE 60,798 60,798
01 HAHHBSEXS 60,798 60,798
OXtg=g 243t X 60,798
403 X SHMSAH=01 ™ 1,001,813 1,006,475 N4,662
01 AR A =2 £ 1,001,813 1,006,475 N4,662
OXtH=gt 2435t X2 1,001,813
CEI&21 MALS &&(=201) 515,500 230,000 285,500
= 375,000
< 140,500
307 el2to| & 80,000 100,000 /20,000
= 40,000
= 40,000
02 QB HANEEX 80,000 100,000 /20,000
OotzlEI| MAtE =& 80,000
= 40,000
= 40,000
308 XXM SO0IH 435,500 130,000 305,500
= 335,000
== 100,500
01 HXSHH B EES 435,500 130,000 305,500
otaZ8Il MAE FA 435,500
= 335,000
< 100,500
AEMEE Oet &5 XA 140,000 0 140,000
403 AXIEHMSAH=201H 140,000 140,000
01 XISHH A =2 E 140,000 140,000
OXETHEE JIEt &#5(5x) 140,000
HOISEXCIAIE &5 14,947,600 13,378,500 1,569,100
= 5,232,000
Il 3,904,000
= 5,811,600
23 Z2MAIE EX(=1) 1,926,600 900,900 1,025,700
Jl 1,482,000
= 444,600
403 TR SHHMSAH=01H 1,926,600 900,900 1,025,700
J| 1,482,000
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2A:

EZH:

X=]

£l

o:‘oz\ﬂl'
N
o= O

NE(BHE/HDIS)

© HIISXCIAE i%

SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
< 444,600
01 MHXIHHA 22X 1,926,600 900,900 1,025,700
O&8E Z=2oAl2 £X 1,926,600
Jl 1,482,000
= 444,600
MYl A2AAIE EXI(=1) 6,560,300 5,225,800 1,334,500
= 3,859,000
=S 2,701,300
403 XIS SAH=01H 6,560,300 5,225,800 1,334,500
= 3,859,000
< 2,701,300
01 A= 2L 6,560,300 5,225,800 1,334,500
OMY Dl A2AIE £X 6,560,300
= 3,859,000
S 2,701,300
MBS =6EH &X X (=21) 4,117,400 6,599,400 A2,482,000
7l 2,422,000
= 1,695,400
403 MR MSAH=01H 4,117,400 6,599,400 A2,482,000
Jl 2,422,000
s 1,695,400
01 A= 2L 4,117,400 6,599,400 2,482,000
O =HE &X| XI&H 4,117,400
Jl 2,422,000
< 1,695,400
ZSHUUXIEL2 ZEAMS(=1) 1,784,900 487,500 1,297,400
= 1,373,000
= 411,900
403 AXIEHHSAH=201H 1,784,900 487,500 1,297,400
= 1,373,000
= 411,900
01 AXISHHA =2 £ 1,784,900 487,500 1,297,400
ozlB0UHXIEZ &4 1,784,900
= 1,373,000
== 411,900
o - 848 HOIE MEAIE £X 120,000 120,000
403 MR EHSAHE01H 120,000 120,000
01 HXIHHA 22X 120,000 120,000
Ond= I - 848 HII= MEAIE £X 120,000
HE+XcAE e X&A 435,000 435,000
403 AXIEHHSAH=201H 435,000 435,000
01 AXIEHM A= 2 £ 435,000 435,000
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FA S
B MEBEA M (SH/HIIZ)
=Rl BOISX2IAlE 5% (CHol: &Sl
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| osEz gs4eNg Jid g 435,000
HYIZEXCIAIE 285 2l 3,400 3,400
202 04t 3,400 3,400
01 =LHOHI 3,400 3,400
OHJI=S=0F HRF2 3,400
AH2SZHI(S3 W) (JIEHIIE 46,628 53,008 6,380
=34 46,628 53,008 26,380
2A29 J1=3l 46,628 53,008 26,380
201 er23| 31,814 36,608 N4, 794
01 At2teltl 29,314 34,608 Nb,204
ORAMEY AtR2telH] 29,314
02 S3=gl 2,500 2,000 500
SEAEE SS24HI 2,500
202 04| 10,614 12,200 A1,586
01 2LHA b 10,614 12,200 A1,586
EM2E8 U 10,614
203 gR=4| 4,200 4,200
M EA2ER=AH 4,200 4,200
©25¢! Olst 350,000& * 122 4,200
Heas(sdyn) (ag3/832548) 200,000 0 200,000
LIS HHKIE 200,000 0 200,000
MJl ~2AIE EXI 200,000 0 200,000
705 Ol==Eci=ae 200,000 0 200,000
02 Oil== 0l Attt 200,000 0 200,000
©'234 MeJ|A2AIE EX 200,000
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